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2.0A.1 - 4 Tests

Name:

Answer Sheet

(Your equation may vary.)

Directions:

Equation:

a had some princess crown stickers. She gavg

23 to her class and 15 to her daycare group. Now
Krista has 20 left. How many crown stickers did
she have to start with?

Equation: 23+15 = 38, 38+20 =

crown stickers

label

Y

PHouse decorated with 38 painted
pumpkins and 37 carved pumpkins.
How many pumpkins are there?

ers'on stage.
¢ haltViolinists. How, [ ]
dancers were there?
dancers

&P

Fhere
There =
B4 o

4 8, 29-18 =

@ There were 77 Easter eggs hidden on a
playground. 56 eggs were found by a group
of children. How many eggs are still not
discovered?
77 - 56 = 21

Equation:

label

®

Equation:

Gavin and Jacob found 43 grasshoppers. Mat

and Kai found 21 more grasshoppers than Gavin

and Jas Mat found 37 grasshoppers, how
oppers did Kai find?

64-37 = 27
bpers

at the picture to fill the
blanks

O

g L 9 A\
]

The total is even or odd: €ven

Make A Ten

Decompose A Number

Doubles/
Fact Family

ay Has 3

rows and 4

Equation 12

Equation 22

Equation 22

Equation 12 4+4+4=12
3+3+3
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o solve each equation by filling the blanks.

tigers

Krista had some princess crown stickers. She gave]
23 to her class and 15 to her daycare group. Now e rs th Krista had some princess crown stickers. She gave| 5 si 3 -

ickers di 23 to her class and 15 to her daycare group. Now. ? ? ? Dotible + 2 Make A Ten
she have to start with? Keista has 201eft. How many crown stickers did

w woion. 23+15 = 38, 38+20 = 58 % coson. 1444 = 18, 29-18 = 11
] ] kd

(s8] crown stickers. [11] dancers
Trhere ware 77 Exster ogge i ©® o e ]
playground. 56 eggs were found by 3 group and Kaifound 21 more grasshoppers than Gavin There were 77 Exster egg= hidd ® oo
of children. How many eggs are stil not and Jacob. If Mat found 37 grasshoppers, how playground. 56 eggs were found by a group. and Kal found 21 more grasshoppers than Gavin
[ Jisovered v [ seemersddnaiton of children. How many eggs are stillnot and Jacob. If Mat found 37 grasshoppers, how
o _2 S discovered? many grasshoppers did Kat find?

Count On

77 - 56 = 21 43+21 = 64, 64-37 = 27

Decompose A Number Doubles/
i > £ 5 Count Back /Make A Ten Fact Family

e
Answer Sheet Asses:

Directions: Drag & drop the loops.

column. Then write

>
otal number of the rockets:
Even or odd: 2

Look at the picture to fill the
blanks.

This array has __rowsand _ columns. | Th o : This array has_2_rowsand_3 _columns. | Thisarray has 3__rowsand 4 _columns.
Equation: 7 C Equation: ” ! ! : 14 | equation: _10._9 - 19 equations: 2| ¢ Equation: _3+3=6 Equationr: 4+4+4=12
The total is even or odd: 2 The fotal is even or odd: * The fotal is even or odd: 0dd e Tr) ER— i Equation2: _2+2+2=6 Equationa: 3+3+3+3=12




Assessment 2.0A.1

Directions: Solve each word problem by filling the blanks.

T3 There were 38 tigers in T0 Reserve.
@ S tersiotncd them.

Howmanytgerssretherenon _ o (o
caunion

—

() Crehemse decorswa sz paie
@ pumpkinsand 37 carved pumpin
e praphing are there?

Wrsta had some princess crown stckers. She gave| (2 There were 14 Violinsts and 29 SIgers on Stage.
D) sz o5 @

she have to start with?

o

[

Ta Therewere
® Jisroms. 3

of children. How many eggs are stll ot
discovered?

i acob. 1t Tound 3 s
many grasshoppers did Ka

S
N v
m
rection o prol il bianks.
Thafe were 38 tigers Foudecorated with 30 panted
iocd them) pkins and 37 carved pumpki
‘How many pumpkins are there?
She gavel

lasz and 15 to.

® o oo

Krista has 30 left.

<he have to start with?

s — ey

There were 77 Easter

playground.

e P/
- ST

and Jacob 1 it found 37 grasshoppers, how
many grasshoppers did Kai i

T

Answer Sheet e

Directions: Solve each wor:
@ Do gm0 Resere:

37 tigers oined t
oty Bt ara Wire ot

[es]

® o e
ol o
i s
Sne hove o TP

tosin 23015 - 383820

[se]

oblem by k
i i
pumpki "
fow may R
38 7 S
pumf -
14 Wolinists 3nd 29 singers on stage.
4 more dancers than vislinists. How

I more Singers than dancers were there?

4

Courion. 1444 = 18, 29-18 = 11

[11] dancers

There were 77
playground.

eggsidden on

@ oy e Tound gasvoppers vy

of children. How many eggs are still not
discovered?
Eauton 77 - 56 = 21

S 0,0
[21]  eses e

and Jacob 1 it found 37 grasshoppers, how
many grasshoppers did Kai i
43421 = 64, 64-37 = 27

(7] arosshoppers

e« €&

ond Grade Mat

Assessment 2.0A.2
3 1o seive cach equation by filling the bianks.
you used for oach equatian solvi

oty /: 5-7= ] @8 R

Directions:

SE

Introduction

o\vgvtl‘, l'hut, are
te n.

ud
P. d
Pa;

i, Google Slldl:\ and PPD share the same

t wording changes to

Assessment 2.0A.3

Directions: Fil

he bianks.

@

Write “even"” or

Look at the pi
blanks.

quation: =

e total is evel

AJ zh A number.
N 4 _ ——
¥ 12
Total number of the rockets: _____
Even or od 1 . ¢ S
fill the

Look at the picture to fill the
blanks.

DDDDDDDDDE
oooccoeeee

Equation: .

The fotal is even or.

Fin

2 “even” or “odd" for each

4: 8:

17:

20:,

Look at the picture t
blanks.
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5
s

arrayhas_rowsand __ columns.

& G

rows and

This array has columns.
Equation 12 Equation 12
jon 21 Equation 22
omie
Asses. >
Directions: Write how many | and Ciia
Wirite two repest o

®® _
DODOS®

DOOS

9+6=[15] 7
Double + 2 A Ten) C
18-9=[9
Decompose A Number Doubles/
/Make A Ten Fact Family

Total number of the rockets: _5

Even or od
Look at the picture to fill the
blanks.

Equation: _7_+ _7 14

The total is even or odd: €ven

Write “even” or “odd" for each,
number.
4: even even

12: even

The total is even or odd: 0dd

This array has_2_rows and _3
Equation1: _3+3=6
Equation2: _2+2+2=6

Pisarcayhar__cowsend __oolimes| ahsamaynss_ vowsend.__ ot
Equation: _ Equation: . = Equation 1: Equation 13
The total is even or odd: THE Yotal isevEn o odds Equation 2: Equation 2%
Carg s Oomus Nome - e e
Ang wer Sheet
R Assessment 2.0A.2 ss ent 2.0A.3 Answer s t 2.0,
DiceckUh: se any stratsias o seve cach squatien by ing e bk, ot yo o e
S e S Fil he blanks. ki = o=

‘oop the rows.
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